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ey = Kg
ARl 4K 5H 6H
E2) AR B M = |LFE AR B M = |kFE AR B B 5 |t

& 2 HREkE 7,075,438 100.0 HREk=E 7,844,020| 100.0 HREkE 6,453,471( 100.0
1 i oY 2,245232| 31.7 | Ew3Y 2,266,377| 28.9 | Ew3Y 1,448,003| 22.4
2 fi E—<> 844,329 119|E—<> 831,642 106|E—<> 657,332 10.2
3 fi T YRR 735,688| 104 | &5HACL 786,161| 10.0 | Fv~VEEET 648,550 10.0
4 i KR 433,953 6.1 | Fv~AUEEET 748,022 95| &AL 511,446 7.9
5 fi f-FERE 385,350 54| f=Fh&E 405,241 5.2 | f=FHFE 402,124 6.2
6 fiI =k 375,495 5.3 | XiR 367,855 47| KR 280,152 4.3
7 fiI AS 315,516 45| I[ENLLFEE 243,210 31| AS 227,736 3.5
8 fi [FN UL LEEET 256,000 3.6| B% 225,660 2.9 | NMFHeFEET 210,495 3.3
9 fi k< bk 185,411 26| NS 214,699 27| LEX 206,670 3.2
101 LR 175,060 25| LAX 213,626 27| ZI1F5 187,418 2.9

ZDfth 1,123,404| 16.0 | £ Dt 1,541527] 19.7 | TDh 1,673,545] 26.1

ARl 1H 88 98
X5 AR = o = |HE AR = o = |thE AR = % = [HEFE

IE {2 HEkE 5,081,124 100.0 k= 4,746,590 100.0 HRERkE 4,474,282{ 100.0
1 i EpoY 636,707 12.5| Fv N UEEET 628,405| 13.1| Fv~UEEE 616,300 13.8
2 fi T YRR 626,810 12.3| XiR 612,960| 12.9| oY 522,668 11.7
3 fi KR 521,770 10.3| S&LNVE 558,933 11.8| f=FHF 500,171 11.2
4 i f-FRE 472,603 9.3 | Ew3Y 483,760 10.2 | XiR 487,827 10.9
5 {i &LV 368,726 13| F=Fh&E 352,045 74| SEWLNE 376,727 8.4
6 fiI E—<> 290,445 57| AS 226,690 48| NS 238,900 5.3
7 fi F <) 246,970 49| Z1F5 192,634 41 | I[EnLLFEE 231,440 52
8 fi e 199,819 39| LA2X 175,190 3.7| BX 173,681 3.9
9 fi AS 199,226 39| Yk 170,468 3.6 | halk 144,046 3.2
104 L3R 174,910 34|E—<> 160,700 34| =k 130,695 29

ZDfth 1,343,138 26.5| £MDith 1,184,805| 25.0 | TD1th 1,051,827 235
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HE: Kg
A Al 10 11 12
X5 & B 8 = [t &h B 8 = [H=E &h B 8 = [=E

& fL HREIkE 5,091,373 100.0 HREIkE 6,240,166| 100.0 HERE 7,617,467| 100.0
1 i =Y 1,131,693| 22.2 [ Zpd5Y 1,888,482 30.2 | EwdY 2,791,839 36.6
2 fi FoNVHEE 617,445| 121 [ Fv X UEERT 676,236| 10.8 | F¥ N UEEET 717,025 94
3 fi KR 504,983 99| E—<> 466,988 15| E—<> 674,850 8.9
4 fir f~Fh& 474,095 9.3 | X1E 466,874 15| B%E 542,058 7.1
5 fi =3 252,952 50| B% 448,087 7.2 | XiR 490,962 6.4
6 fi L LEEET 252,700 50| F=FHhFE 440,097 71| f=FhFE 400,041 5.3
7 fi AS 246,792 48| LAR 258,520 4.1 &LV 239,519 3.1
8 fi EF—<> 218,575 43| NS 244018 39| AS 210,231 2.8
9 fi LAX 177,960 35| [FNULLEEET 216,080 35| IFNULLEERT 183,060 2.4
1014 ey AL ) 159,698 31| =& 141,742 23| LAR 180,326 2.4

ZDith 1,054,480| 20.8 | ZDfh 993,042| 159 ZDfh 1,187,556 15.6

Al 18 2H 3H
X5 &R B 8 B [ R B M = [HE R B B 2 |

& {1 k= 7,562,212 100.0 HERE 6,570,949 100.0 HRERE 6,810,229 100.0
1 i Zpol) 2944925 38.9 | EwSY 2,301,229 35.0| Ew>Y 2,381,780 35.0
2 fi == 853,979 113|E—<> 670,684 10.2| E—<> 719,956| 10.6
3 fi F—<y 790,457 105| B% 657,205| 10.0 | F ¥ UFEET 551,601 8.1
4 fiI KR 430,399 5.7 | Fv X UEEE 425,306 6.5 | K4E 501,899 7.4
5 fi FoNYHEET 427,754 57| KB 410,749 6.3 | F=FhF 383,599 5.6
6 fi f~Fh& 360,997 48 | =FHLE 391,959 6.0 B 355,526 5.2
7 i AS 192,182 25| [EN L &LEEET 204,550 31| LEA 237,540 3.5
8 fi [N LLEBET 167,530 22| NS 192,738 29| A5 212,658 3.1
9 fi ey AL ) 150,160 20| LAR 177,872 27| & 170,867 2.5
101 LAR 145,722 1.9 | x&vE 143,487 22| IENULLEERT 168,190 2.5

Z D1t 1,098,107| 145 | ZDfth 995,170| 15.1 | ZDth 1,126,613| 16.5
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ey = Kg
ARl 4K 5H 6H
E2) AR B M = |LFE AR B M = |kFE AR B B 5 |t

& 2 HREkE 802,438 100.0 HREk=E 672,684| 100.0 HREkE 735,960] 100.0
1 fiI AREHHMNA 175,129| 21.8| /\FF 98,031| 14.6 | MEF L VA 168,715| 22.9
2 i W2 110,054| 13.7 | HRAEA#MA 75,405| 11.2| /\FF 109,386 14.9
3 fi INTF 94,826| 11.8]| < d— 63,603 95| thap A 70,066 9.5
4 i AL 85,970| 10.7 | A 61,500 9.1| w>d— 59,513 8.1
5 fi DN A 43,953 55| AL 60,802 9.0 | LI 56,830 1.7
6 fiI hpAaz 37,405 47| INEFT LV, 52,979 79| AL 38,002 52
7 fiI e 36,965 46 | 9Ly 34,433 51| 81> 7vT )L 27,830 3.8
8 fi < d— 29,326 37| W\WT 33,712 50| BREAMA 25,374 3.4
9 fi INMATITIL 27,100 34| 1UTFYTIL 30,658 46| ard—ILk 20,740 2.8
101 LEY 17,110 21| Para—ILk 19,030 28| FAT)L— 19,083 2.6

ZDfth 144,600 18.0 [ ZDth 142531 21.2| ZDih 140,421| 19.1

ARl 1H 88 98
X5 AR = o = |HE AR = o = |thE AR = % = [HEFE

IE {2 HEkE 849,589 100.0 k= 766,591] 100.0 HRERkE 900,860 100.0
1 i ERNA 145781 17.2| 9L vh 131,006 17.0| #HA 226,478| 25.1
2 i INEY LV 140,376 16.5| /\FF 94,689 12.4| N\F7 92,686| 10.3
3 fi INFF 110,082 13.0 | LH5EET 76,459| 10.0 | 2H% 89,610 9.9
4 i tLEaE 58,129 6.8 | 2K 51,681 6.7 2K 71,042 7.9
5 {i A0y 46,615 55| INEFLVM 50,447 6.6 | thDIFREL 57,027 6.3
6 fiI T =LA Y 35,941 42 | D SREDS 42,733 5.6 | D SES 45,593 5.1
7 fi < d— 34,194 40 | #HA 27,034 35| DOYAZ 39,817 4.4
8 fi INAOTIT I 32,413 3.8 | fpAOr 26,501 35| Bl 30,594 3.4
9 fi AL 26,600 31| AV TFvT L 22,931 3.0 ILIvH 30,542 3.4
104 HMA 24,582 29| BI# 22,192 29| EA—= 29,706 3.3

ZDfth 194,876| 23.0 [ ZDth 220,918| 28.8| €MDt 187,765| 20.9
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HE: Kg
ARl 10 11 12
X5 & B B 2 |thE &h | B 2 |HkEFE &h B 8 2 |tEXE

JIE {5z HWERkE 869,084| 100.0 HWERkE 1,134,310{ 100.0 HERE 1,240,042] 100.0
1 fu HMA 243,011 28.0 | #MA 334,489| 29.4| #HhA 311,035 25.0
2 fi INFF 104,128 12.0| LAS# 190,191 16.8| /\F++ 132,084 10.7
3 fi HmoYAZ 68,009 7.8 | N\FF 120,660| 10.6 | EHH 104,599 8.4
4 i AL 58,870 6.8 | EFM 91,536 8.1 AL 102,103 8.2
5 i D HFEH 53,384 6.1 AL 75,342 6.6 | ITAMA 101,355 8.2
6 fi D FRIEL 46,228 53| HBDYAC 74,040 6.5 | LA 89,178 7.2
7 i fDAES 40,478 47| LEY 52,944 47| EADA 72,041 5.8
8 fi LA 39,977 46 | oarad—ILk 26,920 24| 7—ILARAOY 43,480 3.5
9 {i 2hHB 32,246 3.7 | thDHFEM 24,647 22| BREH#MNA 38,283 3.1
1014 LEY 23,840 27| DSES 19,901 18| LWbT 34,245 2.8

ZDith 158,913 18.3 | ZMith 123,640 10.9 | ZDith 211,639 171

A5l 1H 2R 3A
X5 B B M2 |LbEFE &h B M 2 |HEFE &h B B = |tE

& {1 HERE 772,979| 100.0 HERE 761,655] 100.0 HEkE 769,866| 100.0
1 fi HMNA 150,733 195 | /N FF+ 97525 12.7| LWbZ 153,979| 20.0
2 fi INFF 91,506| 11.8|L\BT 92,214 121 | \FF 118,555 15.4
3 i TADA 77,399 100 AL 84,870 11.1| AL 97,062 12.6
4 i W= 75,584 9.8 | HRIEHMNA 74,099 9.7 | BREH#MNA 92,633 12.0
5 i AL 71,490 9.2 | #MA 67,854 8.9 | thDHEMA 43,820 5.7
6 i AN 52,643 6.8 | SANA 52,956 7.0 | AEIXKFR 35,722 4.6
7 i LEY 40,706 53 | thDEMA 49,442 6.5 | TAMA 22,113 2.9
8 {i HmDYAZ 26,513 3.4 | AENKFR 33,416 44| HEAMA 19,530 2.5
9 {if USIPER 22,782 29 | EAMA 24,758 3.3| ard—Ik 17,880 2.3
1041 HEEHMNA 22,455 2.9 | SAT=A 23,418 31| 847 vTIL 17,802 2.3

D1 141,168| 18.4| T Dih 161,103| 21.2| =D 150,770 19.7




